Unterschiedliche Laufweiten ändern die Zeilenlänge.
- 1,0 pt

Unterschiedliche Laufweiten ändern die Zeilenlänge.
- 0,8 pt

Unterschiedliche Laufweiten ändern die Zeilenlänge.
- 0,6 pt

Unterschiedliche Laufweiten ändern die Zeilenlänge.
- 0,4 pt

Unterschiedliche Laufweiten ändern die Zeilenlänge.
- 0,2 pt

Unterschiedliche Laufweiten ändern die Zeilenlänge.
0,0 pt

Unterschiedliche Laufweiten ändern die Zeilenlänge.
0,2 pt

Unterschiedliche Laufweiten ändern die Zeilenlänge.
0,4 pt

Unterschiedliche Laufweiten ändern die Zeilenlänge.
0,6 pt

Unterschiedliche Laufweiten ändern die Zeilenlänge.
0,8 pt

Unterschiedliche Laufweiten ändern die Zeilenlänge.
1,0 pt

